[ Efficiency vs vertpos |

0.2

0.18
0.16
0.14
0.12

0.1
0.08
0.06
0.04
0.02

=

|||||§||||||||

T T T

0.95

1072

Efficiend

0.2

10

[ fake+duplicates vs vertr

1

0.8

10

0.18
0.16
0.14
0.12

0.1

0.08
0.06)
0.04
0.02

L 0OF

........................

[y

f))

0.95!

[ Efficiency vs. sim PV z |

0.2

0.18F
0.16F
0.14F
0.12F

0.1F
0.08E
0.06F
0.04F
0.02F

0

FRVS)

0.8

0.6

0.4

0.2

-10 0

[ fake+duplicates vs Sim. PV z |

0.2

0.18F
0.16F
0.14F
0.12F

0.1F
0.08E
0.06F
0.04F
0.02F

0.952

20 =15 -10

50 5 10 20



	Contents
	Page 1


